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1)There is a fridge.                   in    x      the kitchen                     the bedroom                      the bathroom        
2)There is a sink                       in           the bedroom                  the kitchen                        X the bathroom
3)There is a wardrobe                                in             the kitchen               the bathroom        X      the bedroom
4) There is a rug                       in             the kitchen                    the bathroom                   X    the bedroom
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Right or wrong ? ( Circle the answer )
There are 4 chairs in the dining room :      R           W
There is a sofa in the kitchen : R      W
There is a wardrobe in the sitting room :       R      W
There is a shower in the bedroom : R     W
There are 2 armchairs in the dining room :     R     W

Draw : ( Dessine ) There is a yellow wardrobe.
There is an orange rug.
There are 2 brown chairs.
[bookmark: _GoBack]There is a blue table.
There is a black desk. 
Il faut dessiner une armoire jaune, un tapis orange, 2 chaises marron ( marron ne s’accorde pas), une table bleue, un bureau noir.
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